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AT 7597 :
()  J97-97 § 9% GUsS] § Po7 27 I97 13T TG & | @t gv 373 &
(i) @US ST Jo7 GEIT1 T 5 377 TY-ITIT 97 &, I3 Fo7 1 3% F & |

(i) TS T Y F97 &I 6 12 TTY-IT1T J97 IJHR 1 & 8, I J97 2 371 FT & |

(iv) @UE T T 97 G&IT 13 G 24 TY-ITT 397 FHRII & &, IA% 397 3 37 # & |

()  GUS TH FIT GEIT25 G 27 JH-FRIT I97 3, IdF 975 37H HT 8 |

(vi) I97-95 § GHT T FIF labeq 787 8, a7 41 1 37% art gl 3941 4, 2 371 ard gt
Il H, 8 3l qrct IR ¥ 7 3K 5 371 qicd @4t 71 3o 7 At wg7-lashey
fou 77 & | g% wansf #) 08 Fva & o) [T 8 & FIF U F9T 5T HAT 8/

(vii) STFFTHAFAR, fF1 BT IGT GH-GoRT TF J9ferd @act giT ey |

General Instructions :

(1) There are a total of 27 questions and four sections in the question paper.
All questions are compulsory.

(it)  Section A contains questions number 1 to 5, very short-answer type questions of
1 mark each.

(iti) Section B contains questions number 6 to 12, short-answer type I questions of
2 marks each.

(iv)  Section C contains questions number 13 to 24, short-answer type II questions
of 8 marks each.

(v)  Section D contains questions number 25 to 27, long-answer type questions of
5 marks each.

(vi)  There is no overall choice in the question paper, however, an internal choice is
provided in two questions of 1 mark, two questions of 2 marks, four questions
of 3 marks and all the three questions of 5 marks. In these questions, an
examinee is to attempt any one of the two given alternatives.

(vii) Wherever necessary, the diagram drawn should be neat and properly labelled.
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SECTION A
1. o Shat ° fafagar gfefea =i 2 grdt 2 @ sror fafge | 1

Why are no variations seen in clones ? State two reasons.

2. U WU JFeECES ad Th INTT JFeEs & e Il WY
HIfT | 1

Differentiate between a DNA and a RNA nucleotide.

3. & % UR WredIw w1 g ? 1

What is ‘Saltation’ according to de Vries ?

4. 39 9 F A5k AW fafey " w #R wd gu sesiet i 9 giisfess
&6 FEgAH @9 6l | IaiH 99 S W wr R 98 Shash ot teEn e ? 1

HAYAT

TR AT ITETE i U & g &g T fafar &1 gema §fvw |

~

Write the scientific name of the organism Alexander Fleming worked on
and discovered the first antibiotic. Was the organism he worked on a
fungus or a bacterium ?

OR

Suggest a method to overcome excessive inbreeding depression.

5.  UTehicsh & H ‘STNM-[93 % fOIY ITERA Jgues 1 414 fafeu | 1

AT

HIa STEITTHITEE oh Al Mg Tai 6t gt TA R | 1

Name the pollutant attributed to be the cause of ‘ozone-hole’ over the
Antarctica region.

OR

List the greenhouse gases other than carbon dioxide.

571311 P.T.0.
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SECTION B

6. () g % T o foheal ql fafrse STfiraiaron sl F= SH1ET S 38 A1y WA
1 Teh =1 ICEW §A1d § |
(b) UM q@1 T R b g s WU % fIQ UGy Yok SR T S §
JUATERUT skl ITod SR I9ehT ITINT hid & | 9T 3719 398 HeHd & 2 30
I o A | Teh AU ST | 2

(a)  List any two characteristic features of wheat flowers that make it a
good example of wind pollination.

(b) It is observed that plant breeders carrying out wheat hybridisation
often take pollen grains from the ‘pollen banks’. Do you agree ?
Give one reason in support of your answer.

7. TR fGgm qon s fgm 4 3 Tase il | 2

Differentiate between Turner’s syndrome and Down’s syndrome.

8.  fcrew Tfsha ol foehfed ot # fiereiehIoen qon AarEiehu[sti o Hed ey
I =RE HIfu | 2

Explain the relationship between B-lymphocytes and 7T-lymphocytes in
developing an immune response.

9. YA GHR 3 S.3.0.H. I g < TAT9T F=1 hl 2 HIS @ hrw fafew | 2

AT

TTh-5geT o S H FUTLUT Sl FaEATcHb &I T | 2

Why has the Indian Government set up the organisation named GEAC ?
Give any two reasons.

OR

Give a schematic representation of the transformation of a pro-insulin
into insulin.

7/3/1
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10. ‘Ori’ 91§ ? HaTEh ohl Il H $Heh] Hewd (oIigy | 2
HAgAT
Teh 3fId 32801 <l TEdT 4 U fugs o A8 il SRl hIfSu | 2
What is ‘Ori’ ? State its importance during cloning of a vector.
OR
Explain the importance of ‘selectable marker’, with the help of a suitable
example.

11. orell 3T & T i i Q907 &war 1 7 ? SUR-aA (AINITEh) Jhg Aled
1 3Tk FATOT AT AHT AT & 2 2
What is ‘carrying capacity’ of a species in a habitat ? Why is logistic
growth model considered more realistic ?

12. “Set &1 fife g Sl (W) g § a1 8 a1 it stagE 78 8
Gehdl |” I hl =A@ fag i | 2
Justify the statement, “Pyramid of energy is always upright, and can
never be inverted.”

Qs "
SECTION C

13. 319 vl # 3fa R a1y uguu h gEern & gEe wg bl diF gancHe

3N hl SATEAT il | 3

AYAT
e YgYOl % UH HI3 A dleh faRay St wa 3R w 3w Sed @ | et
TGWUT <l HH A o TG AT 9 o fepegl ot 3urai <ht g=h =Sy | 3
Explain any three remedial measures to overcome the acute air pollution
in our cities.

OR

Write any three ways by which noise pollution affects the human body
adversely. List any three steps that should be followed in order to reduce
noise pollution.

57/3/1] P.T.O.
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14. (a) Toreht urias <1 grafies Scareehdr <RI & 997 39 fohd TR =<k &id @ ?
(b) T=fatea e = guiar 8, SEh! =ame Hifvu |
W.H @ = SLd gL — AR 3

HAYAT

(a) 39 YRR & e 1 9 ey S8 svged fig 7fd @ gar 8 | @
fopegl 21 henl ol el SHTSY S 3Tqee i el i §e[ B |

(b)  STTEH WehH h QN EITthehs aem @iHSetur ufshan < fafsm =
ferfe | 3

(a)  What is the primary productivity of an ecosystem and how is it
expressed ?

(b)  Explain what does the equation given below show :

NPP = GPP - R

OR

(a) Name the type of detritus that decomposes faster. List any two
factors that enhance the rate of decomposition.

(b)  Write the different steps taken in humification and mineralisation
during the process of decomposition.

15. (a) feffad & srfiraeon 6t gem A
()  gYardt (Fhewe) T agardt (RAHd) St
(i) gYravl (FhEaTsd) qen qdaauh (TeArRarsd) st

(b)  ‘Gmar SHE % ufd g R fRE TR wiggla (VWeamersse) @
ST R 2 3

(a)  Compare the characteristics of the following :
(i)  Eurythermal and Stenothermal organisms
(ii) Euryhaline and Stenohaline organisms

(b)  How does our body get acclimatized to ‘altitude sickness’ ?

6
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16.

17.

18.

19.

fowmo) wshmor <t SRR ofawem § T g it fhedl g Sta-tamieh/3TTfuaeh
e fafigu | 398 9 ford) e & fagra i s hifsT | 3

AT

TEd A o fgdi¥er SU=R o S 3TUATT W TN ohT U9 <hIFT | 3

Write any two biochemical/molecular diagnostic procedures for early
detection of viral infection. Explain the principle of any one of them.

OR

Describe the steps that are followed during secondary treatment of
sewage.

I ARG § Wl o I I1ed Yok T <l IuYh foheli Shat Taehiaa (Icue) i
8798 39 H H & ? 3

How did the plant breeders produce suitable varieties of sugarcane for
cultivation in North India ? Why did they do it ?

Topelt wddiar & % yHoT < S, $S I § Vet o @9l 3¢9 8 TR | 3
(a) Toregl Q1 TSt ARV <hT F ST |

(b) =gl 2 UersAl @ W fofET |

(c) Tordl Q1 wlauersH (Vuesi4) shi T s918T |

While on an excursion to a hill station, some of the children developed
allergic symptoms.

(a)  List any two allergic symptoms.
(b) Name any two allergens.

(¢)  List any two antiallergens.

“Srofe o STreTfieRte o TvETd I U (TR TT) a1l ANl ST STGHTS STehfe
U7 g o 1 wes ferufafeea Serwn 2 17 e hifv | 3

“Appearance of melanised moths post-industrialisation in England is a
classic example of evolution by natural selection.” Explain.

P.T.O.
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20. HHd W TNlHe ¥ ITed q1d 91 hl s S: fomivan fafgu | 3
Write any six salient features of the human genome as drawn from the
human genome project.
21. fawopmeRdr = g ? gigifeer § fom fgir wshn 6 smen Hife | 3

AT

gehgferal ¥ fawamft Shigehr 3M.TH.T. (hnRNA) & qofa: framfia wr.em ..
(mRNA) = 9707 & Tspy <kl samean HIfSe | Swifsment ° I8 IshH gl 979 gidl
% ? 3

What is heterogamety ? Explain the mechanism of sex determination in

Drosophila.

OR

Explain the process of making heterogeneous nuclear RNA (hnRNA) into
a fully functional mRNA in eukaryotes. Where does this process occur in
the cell ?

22. (a) Tl Q TR % AqTHRRT Ihedt (715.9,.81.) & 9 fafa qen sehi
foranfafy <t samen Hifs |

(b) ‘Tref’ A el w1 MfRYE F T H IW FE F oAl H g
EEIE 3

(a) Name and explain the mode of action of any two types of IUDs.

(b)  List the advantages of using ‘Saheli’ as a contraceptive.

23. (a) U GV I H&d R SR AT ?

(b) S-SR § GEw-3d:quer (Wgshigeiae) qen S Tt gfien
S ST HINT | 3
(a)  Why should a bacterium be made ‘competent’ ?

(b)  Explain the role of ‘microinjection’ and ‘gene gun’ in biotechnology.

hitps:byjus.com
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24, TH SIS IICT oh TINIF TR h STIIEA-HIC I IRE@ AT | $Hh]
fufa < fafym Twat =1 Tmifera Hifse qen 39+  fafaw | 3

Draw a T.S. of a young anther of an angiosperm. Label the different

layers of the wall and write their functions.

Qug g

SECTION D

25. (a) TAMI-GAThEX HhWUT § Ffciehmyl <hl fHeRT shi SRS T |
(b)  STgasist qrgdl H fg-RRfE WRTRTT § IP S W99 giEeTs
1 U HIfSTT ST Srgw fs=m qeh s Bl § | 5
JreraT
(a) o= o wmfar & SRF 39 UNEAsT &1 3g@ hitve S8 o7u
(wrier) o1 forepr BT # |

(b) THAT o SN I (Trgel) i qfer il e HIfNT qen 36k
JAHTET T o Y T HE hid i it samear Hifw | 5

(a)  Explain the role of stigma in pollen-pistil interactions.

(b)  Describe the post-pollination events leading to double fertilization
in angiosperms, starting with a two-celled pollen grain.

OR

(a) Mention the events that lead to the development of placenta
during pregnancy in human females.

(b)  Explain the role of placenta during pregnancy including its action
as an endocrine organ.

26. (a) M9 FH var oen b IAW wex w1 femr wnm wenm wen wmyms

(BreieTsT™) 2 1edn fawngms (FAUSTE™) ? 94 9 hl Hg™al §
9 IT ! JHIUE hifST |

P.T.O.
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(b) T@Ad T4 H HAC M g Th-GH HiA & Fo-ATEd U
fraferfea 2
(1) 1:2:1
(i) 3:1

Tedish FUTA T ST & ? IFW HIT | 5

YT
(a) 319 YA § &S ud =9 4 fafeoatea (Afsafeea) 32p qen 3°S &
YT AT TeRaT 2 SamedT i |
(b) 39 I ¥ T YHOMHT o STYR W I8 1 5y vt ST 2 5

(a) How would you find out whether a given tall garden pea plant is
homozygous or heterozygous ? Substantiate your answer with the
help of Punnett squares.

(b)  Given below are the Fg-phenotypic ratios of two independently
carried monohybrid crosses :

i 1:2:1
i) 3:1
Mention what does each ratio suggest.

OR

(a) Why did Hershey and Chase use radioactive 32P and 35S in their
experiments ? Explain.

(b)  Following the experiments conducted by them, write what
conclusion did they arrive at and how.

27. (a) 39 W whwifeyy o fafire am fafge st wgsni # s1fa mefiw T =
+Th & | T =1 9 fafgu |
(b) WISHIETH W Sad wsh shl I UNESAIS T UM it S HIE
Tl | 9V Bl @ |
(¢) T THHISTH UHE 6l AT BIR-HUEhI § T3 Hid &, ol 3TH &0
qfigdd gIaT B ? SAREAT ST | AT o IR T 3G =T Y9G Sl 2 2 5

AT

o

fohrgl M wgfad 3gretvll 6l TRl ¥ HEfh-Tdl dol JAd-3dthi & o=
YRETeh e hl AT hilT | 5

10
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(a)  Write the specific name of the genus Plasmodium that causes one
of the most serious types of diseases in humans. Name the disease.

(b)  Describe the events in the life cycle of Plasmodium which take
place in the female Anopheles.

(c) Explain what happens in the RBCs of the humans when
Plasmodium gains entry into them. How does the human body get
affected ?

OR

Explain the interrelationship between organic farming and biofertilizers,

with the help of any three suitable examples.
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